8.7 THE STEREOCHEMISTRY IS CONTAINED WITHIN THE MECHANISM 189

z add OH and OH across the following double bond in a syn addition,
what will the yroducts be?
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don't have to worry about regiochemistry (markov/antimarkov)- because we are adding 2 OH's

8.40 If you add Br and Br across the following double bond in an anti addition,
what will the products be?
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don't have to worry about regiochemistry (markov/antimarkov)- because we are adding 2 Br's

8.41 If you add Br and Br across the following double bond in an [anti addition,

you get only one product. If you draw the two products that you would expect, you

will find that they are the same compound (a meso co%pound). Draw this product.
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Do not confuse the concepts of regiochemistry and stereochemistry. For in-
stance, in gddition reactions, the term “anti-Markovnikov, addition” r;:fers to the re-
giochemistry of the addition, but the term “anti” refers to the stereochemistry of the
addition. Students often confuse these concepts (probably because both terms have
the word “anti”). It is possible for an addition reaction to be anti-Markovnikoy and
a syn addition Eyuronorauon is an example that you fwill learn about at some point

in time). You rnust realize that regiochemistry and siereochemistry are two totally
different concepts. Addition Rxns: Markov/Anti-Markqv ~ R/S configurations (syn/anti addition)

: Elimination Rxns: Zaitsev/Hofmann  (enantiomers, diastereomers, meso)
8.42 -In the following reaction, we will add H and OH across a double bond. The
regiochemistry is anti-Markovnikov, and the stereochemistry is a syn addition. Draw

the products you would expect now that you'know all of the information.

R
(1) BHg / THF Ofﬂ @Mt
2)H,0,/OH~ mOH
(2) H20, . e O
Anti-Markov = larger thing being added "less sub. C" so the OH will go on the bottg’m here

Syn addition = both H and OH we add will either both be on wedge or both on dashes

You must know the stereochemistry and regiochemistry for every reaction, and
each of them is contained within the mechanism. In the problems above, you were

told what to expect for the stereochemistry and the regiochemistry. When you are
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